[ Efficiency vs vertpos |
~ 0.2

L R s
o F : : :

O e e
[8) I : : :

(O RT1 22 SITEERN PP e e
L2 : :

012 [ oo s
V5155 L) [RERCR PR e e
0.08F {1 {i++ e o e
e R R S e e
0.04 Fp oo e
0.02f 1 Rt JU SR e

11 ey Lo i1

1.0

Ratio

T
i
.
<

o
©
a

1 2

[EnN
2
N
=
o
N

10 0
TP vertr (cr%)

T T_original_low

T
TTfnewbranchfFowpt

_TT_original_lowpt_pLess
TT newbranch_lowpt_plLess

<4

DQ
DQ
Efficiend —— B3

~ 0.7 ; ; ; ; ;
.
%) . . . . .
Z0.08------ AR AR SRR P
> : : : ] :
8007_ ...... e + %& ....... DU
S0 oeh i A
E0.0G__""":'"""": 'S0 {jF"""".' """"
o E : s : '
0.05F------ % """ Peeeee e P
O R

0.03F--wiemeeeeef
oomtriopll

..............................

.......................

0.012—"" """" 0
JERY,) U N N IR PR B R
A
[ad [

H 5
e

=30 -20 -10 0 10 20 30
TP vert z (cm)

H
T
::

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0
N AP PN TN VDT PR VU T P

FRVS)

9 - -
g : :
© H H
o : 3 . i +

theeee e |: “ T

0®5=15C10 -5 05 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


